A
T

MOFREHB FEBRHFE
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BEES

JEAmE (EREE)
FAEHR 0SS (TH)
BEREER

AEHETE

18-11-23-001



BERRE

SHSFEEHMENEERAE

% R K - BKTE B = i ® &8 wm =
EEIEE 50, 215, 901
FFERERRAT 50, 215, 901
EFAEE 50, 215, 901
AEEE 616, 556
AEEE 616, 556
1 REERE 1.00 306, 030 306, 030
=
2 HeMERR QRS Y) 1.00 310, 526 310, 526
=
BRRERE 8,397, 482
TR e A 4,023,771
3 MIEFHEERN MR 1.00 149, 946 149, 946
=
4 FRETERE 10. 00 68,574 685, 740
#ha
5 RIEFHEE 10. 00 68,574 685, 740
#ha
6 AT AREEN 1.00 497, 000 497, 000
=
1 RRRAE RN 24.00 54,167 1,300, 008
B
8 MRRAEHREEEM 1.00 705, 343 705, 343
=
Rz BlE OKEEL) 1,294, 311
9 BETRH 1.00 232,667 232, 667
=
10 B&BIFE 20.00 11, 495 229, 900
km




BERNREK SHSEEHFIR P EERAE
& # 1B - kT By 2 B ¢ #= R

11 BoENEE 1.00 10, 675 10, 675
B

12 B EHREEZ/ERR 1.00 821, 069 821, 069
Eao

KE - EERE 3,079, 394

13 $K - 1% - REHEIRGA. 11A) 2.00 554, 813 1,109, 626
]

14 2K - 128 - REHEEGH. 18) 2.00 685, 358 1,370, 716
]

15 RELEK 1.00 717,610 717,610
Eao

16 KE - EEREZSER 1.00 521,442 521,442
=%

BEEYHRE 4,751, 323

FEEMRE 1,061, 456

17 FEEYRAEA R R 16. 00 66, 341 1,061, 456

5
BNFERE 694, 056
18 AN EE SR RAR R EHER 12.00 57,838 694, 056
5

HhIT MAZR/E 738, 593

19 AJ FFEBRKRRAE 1.00 738, 503 738, 503
=%

RF A HIBRKRAE 1,108, 040

20 R A1) HIRRRREE 1.00 1,108, 040 1,108, 040
Eao

REFROMEN - B 1,149,178

21 g)ﬁﬁ%d)ﬁ@ﬁ - ER (BEEWMHR 1.00 1,149,178 1,149,178
=%




BERNREK SHSEEHFIR P EERAE

& g g - AR B #H 2 B € # =
FREMRE 8,583,417
FREMRE 2,862, 644
22 FTiRKE-EE &£ 4.00 432, 853 1,731,412
=l
2 W M A-HEERLRRE 2.00 222,323 444, 646
=l
24 HJ FH_EINERERE 2.00 343, 293 686, 586
=l
FHEERAE MEL—VAERUVZERE 2,966, 221
iR
25 £{KEHE Hh & 1R L L1000 4.59 852 3,910
km2
26 EHAIETE HBEHR L ~JL1000 4.59 733 3,364
km2
27 #Ef B E$R L~ L1000 10. 80 113,983 1,231,016
|
28 &t HEEHR L L1000 207 199, 851 413, 691
|
29 #8 Hh & 1R L L1000 5.00 142, 956 714,780
=]
30 AEAEERDEE HEEHR L L1000 4.00 51,283 205, 132
&R
N ZRFEHAT—E2RUF Y DHILT  HEIHEHRL )IL1000 4.59 17,936 82, 326
— R ER
km2
2 9500 FT—42EmR HBEHR L ~JL1000 4.59 45, 468 208, 698
km2
BTy REER) T—2ER HEEER L ~JL1000 4.59 4,585 21, 045
km2
3 EBET—S R HEIEER L L1000 4.59 4,673 21,449
km2
35 HEHMBET—42 7 7 1 ILIER HBEER L ~JL1000 4.59 1,905 8,743
km2
36 XA RRIERE 1.00 51, 000 51, 000
=




BERRE

SHSFEEHMENEERAE

% i R - RKT & BifL 2 i ® # m E
3 REXBE 1.00 1,067 1,067
=
REHE 1,069, 872
38 BT 4.00 267, 468 1,069, 872
E
BRI - BE 1,684, 680
39 SERERDEN - ER(FREYRAE 1.00 1,684, 680 1, 684, 680
) =
REERERRYELD 905, 604
REERERRYELD 889, 204
40 FHAEESHERERYELED 1.00 889, 204 889, 204
=
AFFARRROER 16, 400
4N AERARRRDER 1.00 16, 400 16, 400
=
EEEE 26,961,519
TEXE 529, 291
2 ZEERMm 1.00 529, 291 529, 291
=
[p2 S 200, 000
3 XBHREME (RMOEE  HAEH 1.00 100, 000 100, 000
ARERAR) .
=
M EBRREME (FHAEESHERIRY 1.00 100, 000 100, 000
FED) .
=
SHTHRE 26,232, 228
4 HIRRE 1.00 26,232, 228 26, 232, 228
=




SHSFEFFIRIPERRAET

% g R - KSR Bifr 2 il & B 18
EENEE 43,949, 646
HRE 17,717,418 x 62.2% — 9,879 11,010, 354
AEEEE 43,949,646 + 11,010, 354 54, 960, 000
BRI 6,109,560 + 156, 695 6, 266, 255
EEAGE 6,109, 560
BE#ERE 156, 695
T DR 6,109,560 x 53.85% ( 35% + (1 — 35%) ) 3,289, 998
BRI 6,266, 255 + 3,289,998 9, 556, 253
—RERESE 9,556,253 x 53.85% ( 35% + (1 — 35%) ) — 2,295 5,143,747
AEREHE 9,556,253 + 5,143, 747 14,700, 000
AIERH@mE 54,960,000 + 14,700, 000 69, 660, 000
HETR SR L 69, 660,000 x 10.00% 6, 966, 000
BEXHE 69, 660,000 + 6, 966, 000 76, 626, 000




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 1
& RAEERE 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 3.00 48, 000. 00 144, 000
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 1.00 32, 400. 00 32, 400
MR 2E0%
% 1.00 303, 000. 00 3,030
& B 1YE%HeH - 1.00K 306, 030. 00 306, 030
&5 .2
£ BEAERR 2FEESY) 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
BIEHEE
A 8.00 25, 400. 00 203, 200
FSvo 2t
B 4.00 26, 063. 00 104,252 4. 70H / 8H
MR ELNOY
% 1.00 307, 452. 00 3,074
& B 1E%HeH - 1.00K 310, 526. 00 310, 526
53
£ REREHEE AR 1LY
2 b g - BIRTE By = BHoO(f %8 W = " =
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 2.00 32, 400. 00 64, 800
MR 2E0%
% 0.50 149, 200. 00 746
& B 1E%HeH - 1.00K 149, 946. 00 149, 946




Rifiz -/ \v7r—o

THSFEHMRTERRAE

Hz5 .4
B FREEERE 18HY (5 8ithsE)
£ b L - BIRTiE BT = B ® W = " =

REE S4 kY 2L

B 1.00 3,282.00 3,282/2.00H / 8H
AR FRP D 70PSZE!

B 1.00 71, 492.00 717,492 8H
RIS HRER

A 1.00 42, 200. 00 42,200
B

A 1.00 32, 400. 00 32, 400
BEENF

A 1.00 31, 100. 00 31,100
BIEWENE

A 2.00 25, 400. 00 50, 800
BKE(FA1\—) 10mk 5%

A 1.00 49, 500. 00 49, 500
BKLTHENE (A /1\—) 10mK 78

A 1.00 49, 500. 00 49, 500
rEYE

A 1.00 25, 300. 00 25,300
MM 2RD%

% 10. 00 361, 574. 00 36, 157
& B 1YE%HEH : 5. 80K 68, 574. 00 397, 731




Rifiz -/ \v7r—o

THSFEHMRTERRAE

H#5:5
¥ REREHEE 1B%Y (5. 8ihe)
£ b g - BIRTE BT = B O ® W = " =
REE S4 kY 2L
B 1.00 3,282.00 3,282/2.00H / 8H
AR FRP D 70PSZE!
B 1.00 71, 492.00 717,492 8H
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEENF
A 1.00 31, 100. 00 31,100
BIEWENE
A 2.00 25, 400. 00 50, 800
BKE(FA1\—) 10mk 5%
A 1.00 49, 500. 00 49, 500
HBKLTHBEE (A4 /\—) 10mK 78
A 1.00 49, 500. 00 49, 500
rEYE
A 1.00 25, 300. 00 25,300
MM 2RD%
% 10. 00 361, 574. 00 36, 157
& B 1YE%HEH : 5. 80K 68, 574. 00 397, 731
ES .6
£% . RRRAESRRREEN 1LY
£ b g - BIRTE BT = B Ol ® W E " =
BAEE
= 1.00 497, 000. 00 497, 000
& Hi 1E%HeH - 1.00K 497, 000. 00 497, 000




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5:7
£ RIREAE SRR HEER
2 b g - BIRTE By = BHO(f ) W = " =
HEm (B)
A 0.60 41, 600. 00 24,960
AR (C)
A 0. 40 32, 800. 00 13,120
g
A 0. 40 29, 000. 00 11, 600
B 1.00 2,500. 00 2,500
EHERARE FHEEDY
% 4.00 49, 680. 00 1,987
& B 1E%HED - 1.00/B 54,167. 00 54,167
&5 :8
£ RRARAEREEER 14y
2 b g - BIRTE By = BHO(f ) W E " =
F{EHRAR (F%ET)
A 0.30 58, 600. 00 17, 580
HEm (B)
A 10. 30 41, 600. 00 428, 480
g
A 8.70 29, 000. 00 252, 300
EHERARE FHEEDY
% 1.00 698, 360. 00 6, 983
& B 1E%HeH - 1.00K 705, 343. 00 705, 343




Rifiz -/ \v7r—o

THSFEHMRTERRAE

59
B BETR 1XEY
2 b g - BIRTE By = B ) W = " =
REE S4 kY 2L
B 1.00 3,282.00 3,282/2.00H / 8H
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEENF
A 1.00 31, 100. 00 31,100
BIEf FRP D 70PSZE!
B 1.00 71, 492.00 717,492 8H
GNSS:AIfI £ & DGNSS
B 1.00 25,575.00 25,575
BERIREE 241 90~230kHz
B 1.00 18, 315. 00 18, 315
MR 2E0%
% 1.00 230, 364. 00 2,303
& B 1E%HeH - 1.00K 232, 667.00 232, 667
=:10
&% BERAZR 1B3EY (23.2km)
2 b g - BIRTE By = B ) W E " =
REE S4 kY 2L
B 1.00 3,282.00 3,282/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 717, 492.00 717,492 8H
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEENF
A 2.00 31, 100. 00 62, 200
GNSS:AIfI £ & DGNSS
B 1.00 25,575. 00 25,575
BERIREE 241 90~230kHz
B 1.00 18, 315. 00 18, 315
MR 2E0%
% 2.00 261, 464. 00 5,229
& B YEZRESN : 23.20km 11, 495. 00 266, 693




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 11
£F R E R R 1084y
2 b g - BIRTE By = il %8 W = " =
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 1.00 31, 100. 00 31,100
MR 2E0%
% 1.00 105, 700. 00 1,057
& B 1YE%HEH 0 10.008 10, 675. 00 106, 757
&= 12
£ MR RERESIER 1LY
2 b g - BIRTE By = il %8 W E " =
BIEFEHEM
A 2.30 48, 000. 00 110, 400
RIS HRER
A 8.00 42, 200. 00 337, 600
Bl S H A
A 8.00 32, 400. 00 259, 200
BEBF
A 3.40 31, 100. 00 105, 740
MR 2E0%
% 1.00 812, 940. 00 8,129
& B 1E%HeH - 1.00K 821, 069. 00 821,069




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 .13
B BK - RIE - SHBERGA. 118) HEED)
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 2.50 3,282.00 8,205/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 2.50 71, 492.00 193, 730 8H
RIS HRER
A 2.50 42, 200. 00 105, 500
Bl S H A
A 2.50 32, 400. 00 81,000
BEBF
A 5.00 31, 100. 00 155, 500
MR 2E0%
% 2.00 543, 935. 00 10, 878
& B 1YEZHEH - 1.00[E 554, 813. 00 554, 813
&S 14
B BK - IR - SHERGA. 18) HEED)
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 3.00 3,282.00 9,846/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 3.00 717, 492.00 232,476 8H
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 3.00 32, 400. 00 97,200
BEBF
A 6. 00 31, 100. 00 186, 600
MR 2E0%
% 5.00 652, 722. 00 32, 636
& B 1YEZHER - 1.00[E 685, 358. 00 685, 358




Rifiz -/ \v7r—o

SHSEEHMIRPEBRRART

&5 .15
&5 . ELERR 1LY
2 b g - BIRTE BT H = it %8 W = " =
Bl S H A
A 2.00 32, 400. 00 64, 800
REE S4 kY 2L
B 2.00 6, 405. 00 12,810 6.00H / 8H
& B 1YE%HeH - 1.00K 717,610.00 717,610
&S .16
2F: KE - BREREEER 1LY
2 b g - BIRTE BT H = it %8 W E " =
F{EHRAR (F%ET)
A 2.50 58, 600. 00 146, 500
e (B)
A 3.80 41, 600. 00 158, 080
g
A 7.30 29, 000. 00 211,700
EHERARE FHEEDY
% 1.00 516, 280. 00 5,162
& Hi 1E%HeH - 1.00K 521, 442.00 521,442




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 11
¥ HEEYRAERBRR 1TAHY (4. 3thm)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3,282.00 3,282/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 71, 492.00 717,492 8H
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BKE(F A1) 10mk 578
A 1.00 49, 500. 00 49, 500
HBKLTHBEE (A4 /\—) 10mk 5%
A 1.00 49, 500. 00 49, 500
rmyg
A 1.00 25, 300. 00 25,300
MR 2E0%
% 2.00 2179, 674. 00 5,593
& B 1E%RED : 4. 3005 66, 341.00 285, 267
&5 :18
£ AN EEBIKRAE PR 1TAHY (4. 84hm)
2 b g - BIRTE By = BHoO(f ) W E " =
REE S4 kY 2L
B 1.00 3,282.00 3,282/2.00H / 8H
SREM #fD 150PSE! 15.0t
B 1.00 132,099. 00 132,099 8H
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 2.00 31, 100. 00 62, 200
MR 2E0%
% 2.00 272,181.00 5, 443
& B 1EXHESN : 4. 80K 57, 838. 00 2717, 624




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 19
&% H T MHZEBRKRRAE 1LY
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 3.00 3,282.00 9,846/2.00H / 8H
@R FRP D 70PS#E! 3.0t
B 3.00 71, 492.00 232,476 8H
BIEFEHEM
A 3.00 48, 000. 00 144, 000
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 3.00 32, 400. 00 97,200
BEBF
A 3.00 31, 100. 00 93, 300
MR 2E0%
% 5.00 703, 422. 00 35,171
& B 1E%HeH - 1.00K 738, 593. 00 738, 593
E5:2
B AT A HBIKREE 1K%Y
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 1.00 3,282.00 3,282/2.00H / 8H
BIEFEHEM
A 1.00 48, 000. 00 48, 000
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 2.00 32, 400. 00 64, 800
BEBF
A 2.00 31, 100. 00 62, 200
BHEt
A 3.00 55, 300. 00 165, 900
BiEt
A 3.00 42, 200. 00 126, 600
HmRE HAEER < 2EDY
% 80. 00 512, 982. 00 410, 385
MR 2E0%
% 20.00 923, 367. 00 184,673
& B 1E%HeH - 1.00K 1,108, 040. 00 1,108, 040

10




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 21
£ AEHROEN - 2R (BEEWHRE) 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 3.00 51, 200. 00 153, 600
e (B)
A 6. 00 41, 600. 00 249, 600
AR (C)
A 10. 00 32, 800. 00 328, 000
g
A 12.00 29, 000. 00 348, 000
EXERARE 2E0%
% 1.00 1,137, 800. 00 11, 378
& Hi 1E%HeH - 1.00K 1,149, 178. 00 1,149,178
&5 .22
&% TRKE - EE - &% HEED)
2 b g - BIRTE By = BHO(f %8 W = " =
REE S4 kY 2L
B 3.00 3,282.00 9,846/2.00H / 8H
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 3.00 32, 400. 00 97,200
BEBF
A 6. 00 31, 100. 00 186, 600
MR 2E0%
% 3.00 420, 246. 00 12, 607
& B 1YEZHER - 1.00[E 432, 853. 00 432, 853

11




RIER- T/ \07r—2 SRSEEFMR R

&5 .23
B H D P HHEERSTRRE HEED)
2 b g - BIRTE BT o = B O ® W = " =
REE S4 kY 2L
B 2.00 3,282.00 6,564/2.00H / 8H
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 2.00 32, 400. 00 64, 800
BEBF
A 2.00 31, 100. 00 62, 200
MR 2E0%
% 2.00 217,964. 00 4,359
& B 1YEZHEH - 1.00[E 222,323.00 222,323
BS54
& h D FHENRERE HEED)
2 b g - BIRTE BT H = B O %8 W E " =
REE S4 kY 2L
B 3.00 3,282.00 9,846/2.00H / 8H
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 3.00 32, 400. 00 97,200
BEBF
A 3.00 31, 100. 00 93, 300
MR 2E0%
% 5.00 326, 946. 00 16, 347
& B 1YEZHER - 1.00[E 343, 293. 00 343, 293

12




Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 :25
&% 2KETE HEIEHR L ~JL1000 100km2%Y
2 b g - BIRTE By = il %8 W = " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
Bl S HEm
A 1.00 42, 200. 00 42,200
Bl S H A
A 0.50 32, 400. 00 16, 200
HmRE EEAEEDY
% 0.50 82, 400. 00 412
HAETHEE EEAGE+HHEMhEE DY
% 3.00 82,812.00 2,484
& Hi YEZHEH : 100.00k m 2 852. 00 85 296
&5 :26
%5 FHRAIETE  HhEEER L JL1000 100km2%Y
2 b g - BIRTE By = il %8 W E " =
Bl S A
A 0.30 42, 200. 00 12, 660
Bl S H A
A 0.30 32, 400. 00 9,720
BHEt
A 0.30 55, 300. 00 16, 590
BiEt
A 0.30 42, 200. 00 12, 660
wE
A 0.30 39, 300. 00 11,790
HEmRE EEAEEDY
% 7.00 63, 420. 00 4,439
HHE EEAEDY
% 5.50 63, 420. 00 3, 488
HAETHEE EEAGE+HHEEEDY
% 3.00 67, 859. 00 2,035
& Hi YEZHEH : 100.00k m 2 733. 00 73,382

13




Rifiz -/ \v7r—o

SHSEEHMIRPEBRRART

&5 .27
£F5 : BERT  HEIER L L1000 G ER
2 b g - BIRTE By = B 4 ) # " =
A ZE B
B il 1.00 90, 110. 00 90, 110
mEHVY >
L 60. 00 287.00 17,220
fzEA AL
L 2.50 1, 580. 00 3,950
HAETHEE EEAME+HHEEREZEDY
% 3.00 90, 110. 00 2,703
& Hi YEZERED ¢ 1. 00RER 113, 983. 00 113, 983
&5 .28
%5 FHEl HBEIER L ~JL1000 G ER
2 b g - BIRTE By = B 4 ) # " =
MEL—TAESRT LA g A
B il 1.00 191, 700. 00 191, 700
BEFEESRINEXT—4 EEFHRESARX
B il 1.00 2, 400. 00 2,400
HEEETHEE HEMZEE DY
% 3.00 191, 700. 00 5, 751
& Hi YEZERED ¢ 1. 00RER 199, 851. 00 199, 851
5:29
2% wE  HEIER L1000 1BEY
2 b g - BIRTE By = B 4 ) # " =
BHEt
A 1.00 55, 300. 00 55, 300
BiEt
A 1.00 42, 200. 00 42,200
wmEt
A 1.00 39, 300. 00 39, 300
BIEERESE EEAEEDY
% 1.50 136, 800. 00 2,052
HEEETHEE EEAEEDY
% 3.00 136, 800. 00 4,104
& B 1E%HEH - 1.008 142, 956. 00 142, 956

14




KT -FEIT/ SNV —2 SHSEEFMRAERRAT
&5 :30
£ AEARESORE HRIFHRL L1000 ERED)
2 b g - BIRTE By = B O %8 W = " =
B S B Eh#H
A 5.00 32, 400. 00 162, 000
BIEBF
A 7.50 31, 100. 00 233, 250
HmRE EEAEEDY
% 25.00 395, 250. 00 98, 812
Mg EEAEEDY
% 1.00 395, 250. 00 3,952
HAETHEE EEANGEEEEEDY
% 3.00 494, 062. 00 14, 821
& Hi 1YEZHES - 10. 00 FR 51, 283. 00 512, 835
&5 : 31
B ZRFTEFBAT 2 RUF) OFILT—2 R HEIERL ANJL1000 100km23HY
2 b g - BIRTE By = B O %8 W E " =
RIS HRER
A 15. 00 42, 200. 00 633, 000
B S B Eh#H
A 30.00 32, 400. 00 972, 000
HEmRE EEAEEDY
% 8.50 1, 605, 000. 00 136, 425
HEEETHEE EEANGEEEREDY
% 3.00 1,741,425.00 52,242
& Hi YEZERESN - 100.00km 2 17, 936. 00 1,793, 667
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Rifiz -/ \v7r—o

SHSEEHMIRPEBRRART

&5 :32
B USOY RT—2 R thRIEHR L L1000 100km2%Y
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 20.00 42, 200. 00 844,000
Bl S H A
A 60. 00 32, 400. 00 1,944,000
BEBF
A 40. 00 31, 100. 00 1,244,000
HmRE EEAEEDY
% 9.00 4,032, 000. 00 362, 880
Mg EEAEEDY
% 0.50 4,032, 000. 00 20, 160
HAETHEE EEANGEEEEEDY
% 3.00 4,394, 880. 00 131, 846
& Hi YEZEEH - 100.00km 2 45, 468. 00 4, 546, 886
&5 :33
B Uy FUEESR) T—4 e thRIE#HR L ~JL1000 100km2%Y
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 10. 00 32, 400. 00 324,000
HEmRE HEMEE DY
% 9.00 408, 400. 00 36, 756
HAETHEE EEANGEEEREDY
% 3.00 445, 156. 00 13, 354
& Hi YEZERESN - 100.00km 2 4,585.00 458, 510
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Rifiz -/ \v7r—o

SHSEEHMIRPEBRRART

&5 :34
£ FERT 2R HEIEHRL A)JL1000 100km2%Y
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 9.00 32, 400. 00 291, 600
HmRE EEAEEDY
% 8.50 418, 200. 00 35, 547
HAETHEE EEANGEEEEEDY
% 3.00 453, 747. 00 13,612
& Hi YEZERESN - 100.00km 2 4,673.00 467, 359
&5 :35
A BEMBERT—42 77 4 IILERR  HEIEHR L L1000 100km2%Y
2 b g - BIRTE By = BHO(f %8 W E " =
BIEFEHEM
A 0.50 48, 000. 00 24,000
RIS HRER
A 1.50 42, 200. 00 63, 300
Bl S H A
A 2.50 32, 400. 00 81,000
HEmRE EEAEEDY
% 8.00 168, 300. 00 13, 464
Mg EEAEEDY
% 2.00 168, 300. 00 3, 366
HAETHEE EEANGEEEREDY
% 3.00 181, 764. 00 5, 452
& Hi YEZEEH : 100.00km 2 1,905. 00 190, 582
&5 : 36
2 EBERRBERE 1LY
2 b g - BIRTE By = BHoO(f 5 W = " =
EBEBRERERE
= 1.00 51, 000. 00 51,000
& Hi 1E%HeH - 1.00K 51,000. 00 51,000
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Rifiz -/ \v7r—o

THSFEHMRTERRAE

&5 .37
2% REXEE
2 b g - BIRTE By = B ] W = " =
REXEE
= 1.00 1,067.00 1,067
& Hi 1YE%HeRH 1,00 1,067.00 1,067
= : 38
&% BERE
2 b g - BIRTE By = B ) W E " =
REE 5S4 kY 2L
B 2.00 3,282.00 6,564/2.00H / 8H
@R FRP D 70PSZ%! 3.0t
B 1.00 75, 360. 00 75, 360 8H
RIS HRER
A 2.00 42, 200. 00 84, 400
Bl S H A
A 2.00 32, 400. 00 64, 800
BEENF
A 1.00 31, 100. 00 31,100
MR ELNOY
% 2.00 262, 224. 00 5,244
& B 1YEZHER - 1.00[E 267, 468. 00 267, 468
&5 :39
£ AEHEROEN - 2R (FREDRD)
2 b g - BIRTE By = B ] W = " =
FEHRAR (F%ET)
A 4.00 58, 600. 00 234, 400
AR (A)
A 8.00 51, 200. 00 409, 600
e (B)
A 12.00 41, 600. 00 499, 200
AR (C)
A 16. 00 32, 800. 00 524, 800
EXERARE ELNOY
% 1.00 1, 668, 000. 00 16, 680
& Hi 1E%HeH - 1.00K 1, 684, 680. 00 1,684, 680
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Rifiz -/ \v7r—o

THSFEHMRTERRAE

&S 40
£ SILEENMERRYELD 1LY
2 b g - BIRTE BT o = B O ® W = " =
FEHRAR (F%ET)
A 2.00 58, 600. 00 117, 200
AR (A)
A 2.00 51, 200. 00 102, 400
e (B)
A 4.00 41, 600. 00 166, 400
AR (C)
A 8.00 32, 800. 00 262, 400
g
A 8.00 29, 000. 00 232,000
EXERARE 2E0%
% 1.00 880, 400. 00 8, 804
& Hi 1E%HeH - 1.00K 889, 204. 00 889, 204
&5 M
2% AFEARRROER 1LY
2 b g - BIRTE BT H = B O ® % W = " =
AR (C)
A 0.50 32, 800. 00 16, 400
& Hi 1E%HeH - 1.00K 16, 400. 00 16, 400
=)
£ REEEMR 1LY
2 b g - BIRTE BT H = B Ol ® W = " =
ZEEEMm FRP D 180PS#Y
B 3.60 146, 294. 00 526, 658 6. 00H / 8H
MR 2E0%
% 0.50 526, 658. 00 2,633
& B 1E%Heh - 1.00K 529, 291. 00 529, 291
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RIER- T/ \07r—2 SRS EH PR RS

&5 .43
£ EBRRRE (SMNSEE FMRAHLEERRAT 1Y
£ b I - BIKTE BAL H = B O ® % M = & &
EBERRRE
= 1.00 100, 000. 00 100, 000
& Hi EZBER - 1. 00 100, 000. 00 100, 000
ES .M
£ EBRREE (STUEEMERERY ELO) 1Y
£ Eu I - BIKTE B4L H = B O ® % M = & &
EBERRRE
= 1.00 100, 000. 00 100, 000
& Hi EZBER - 1.00 100, 000. 00 100, 000
&S .45
£ Eu I - BIKTE B4L H = B O ® % M = ik &
KBS HHRE
= 1.00 15, 896, 388. 00 15, 896, 388
EBE D HRRE
= 1.00 606, 600. 00 606, 600
BEMTSU0 FonHE
= 1.00 612, 000. 00 612, 000
BTS20 FUnE
= 1.00 1,152, 000. 00 1,152,000
B0 - IPASE
= 1.00 712, 800. 00 712, 800
EEEMITE
= 1.00 648, 000. 00 648, 000
HEEDIHE
= 1.00 1, 833, 600. 00 1,833, 600
NEEINE
= 1.00 300, 000. 00 300, 000
FREMIINE
= 1.00 1, 540, 000. 00 1, 540, 000
FREESTHRE
= 1.00 2,930, 840. 00 2,930, 840
& Hi 1EZBERN - 1.00 26, 232, 228. 00 26, 232, 228
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